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Candzdates are required to give their answers in
their -own. words as far as practzcable

1. AnsWer any ten questions from the followmg
2x1 0—20 ’

' ﬁﬁﬁfﬂ@ m—Mwﬁme g
Ca) ‘Name two factors affecting. supply.
{1 a@ﬁ@mm@m«wm.
- b) | What is meant by Reservatlon price? .
o mqmarc@a‘?t e
c) . The Supply and Demand for X are described by
Q= -30 + 38p o= 90-2p. Flnd the
; equlhbnum price and quantity. | .
A BifE G @I Q/=-30+ 38p, O =



d)

g)

101/E00(N)

Demand for a product X is perfectly inelastic.
What will be the change in demand, if the price

rises from Rs 5 per unit to Rs 10 per unit.

X WS bifewl 4w s feriems | 7 wiw offe

BTG ¢ DIl (At e BTG ;o?ﬂzﬂ@ i SR
ﬂﬁﬁaﬂv

What is meant by “monotonicity of
preferences"? '

“ARCE GPCICN” ICS T (@RI 2

Draw the Indifference curve for Rina who eats
one sandwich with one glass of fruit juice. She
will not consume an additional unit of one good

without an additional unit of the other.

ST 9= 21 T AT M 96 ATTT35 A, o
wioe wfefie av »iel gobd Sfefie «ass sze
903 =1 | 79 Faeers @2 oma 59

What is meant by production function?
TATH Lo &0 BRI 2
Define Producer’s surplus.

TeAMTE CHI0ed &I @7 |

(2)

1)
k)

)

101/Eco(N) (§85)

Consider a budget linep, +p, = M, now if the
price of X doubles, price of Y becomes 7 times
larger, what is the equation for the new Budget

line in terms of original prices and income?

< AT AR (p, + p, = M) Reaw 77 14 (X)
47 s Red 2ge (Y) 93 vis Q@4 (08 TR, SIRCE
WW&Q?W?{WW Tod GG B

T AL
Define Income Consumption curve.
o Coel (E AR
Define price e_lésticity of demand.
pifEwa Yoy FfoRere e G|
State the law of Equi-marginal utility.
-2l SIS A et T4
Distinguish between normal good and inferior

good.
olfEe Aoy @k FHIER AT &0 AT 91

" What is meant by Price-ceiling?

Price-ceiling JC® F @RI ?

How does availability of substitutes affect the

price elasticity of demand?

WWWW*WW
FelIE geiike FE?
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)

Distinguish between Short .run and Long run
productlon ' '

mﬁaa\%ﬁt%vﬂm T A1 |

2. | Answer"any four questions from the following:

5x4=20

ﬁﬁ%ﬁ—m—mmm@mmo

a)

b) -

Explain the derlvatlon of demand curve for

commodity X (in a two- commodlty framework)
from Price Consumptlon Curve.

-m@ﬂmcwxmw&m @m(@w

Wm@)ﬁeﬁ’l%wwn

In a 2-commodity framework, suppose

commodlty X is rationed and its consumptlon

. is restricted to ¥, explain the shape of the

Budget line. o
7% 7 IITS 431 TS X T4B G 731 2@
GRGF IR ¥ 9T G R | m@ww

R T

' pack currently costs Rs. 10 and the Government - -

" IOl/Eco(N)

Suppose the price elasticity of demand for
mobile data packs is about 0.4. If a 1GB data

wants to reduce average screen time by 20%,

by how much should it i increase the price of the
data pack?

- (4)

9

101/Eco(N) - )

&l 0.8 17 93 > R (TO! T W IS do
B! TR TR 51G Rt BIZH 20%% (TS BT, ©IKEA
mwqufﬁw%—?

In a two- commodlty framework prove that

Indifference curve are convex to the origin.

| @mmmqm @ e el Gt
A e |

Explain. the relationship between Average
'Pr'oduct and Marginal Product with suitable .

diagram.
%ﬂ{@fﬁaﬂi%@wﬂ R AT Be @ T
E .

What is the relation between marginal cost and

average variable cost? (Assume only one

factor).

ammemﬂﬁaﬁ%wmmW%? :
(@@aaﬁi‘mm)l ' '
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a)

Answer any two questions. from the followmg

10x2=20

Use supply and demand curve shlﬁs to illustrate
dlagrammatlcally the effect of the following

" events on the market for millets in India. Clearly

indicate the direction of. change in both price
and quantlty sold:

i) The govemment launches a nationwide

campaign promotlng the health beneﬁts of
consummg millets,

ii) _The price of wheat doubles,

iii) Unpredictable rainfall reduces millet
production significantly,

iv) A large number of farr‘ners shift from
wheat cultivation to millet farming,

2g‘x4=10

0O NI 3R B TR AR g 33|

%ﬁ{@ﬁ@?mmmm\ﬁ%ﬂﬁm%w
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' -101/Eco(N)

i) WWWWW%WWW
' m‘?uﬂﬁaﬂwwm

(6)

ii)

iii)
‘iv)

b) i)
ii)

¢) i)

101/Eco(N)

SR Wi fawd =T, _
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" Define Substltutlon effect and Income

effect.
A6 ST IR S 2SI G e e |

| How does the Slutsky decomposmon

separate the Income effect  and

?
' Substltutlon effect of a price change?

: 3+7=10
S utsky e BT ARRE oTe
oI IR ARRS SO AP IEL
Describe how a consumer -attains
equilibrium: using the indifference curve
approach, given the budget constraint and
preferences. Explain the conditions for
equlhbnum and illustrate with a suitable
diagram. .
W Hazet @R mﬁ?ﬂww GG
SISy SEA FCE ©f I I | SIEENGIR
mﬁwwaa&m@wmm.
fofee w21
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What is the optimal consumptioﬁ_ bundle
for perfect complements in indifference
curve analysis? - . 7+3=10

s @ Regme R ﬂﬁvﬁm )

ST 1% B2

iii)

.Deﬁne Elasticity of substitution. k

aﬁ@mﬁ?@ﬂwv{mml

- What is Expansion path of a firm?
- 3 zmsﬁ TR AL H 2

Comment on the shape of expansmn path |
associated with constant return to scale

(CRS) productxon function. 2+2+6=10

101/Eco(N)
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